Plants L60-68

Respiration, stored as insoluble starch,
fats or oils for storage, cellulose for cell
walls, combine with nitrates from the soil

Growers must balance the
economics of additional

cell wall

to form amino acids for protein synthesis
r

Plants use the glucose produced in
photosynthesis in a variety of ways

I

f, Photosynthetic reaction

The plant manufactures glucose from carbon dioxide and water using energy
transferred from the environment to the chloroplasts by light
]

costs of controlling the

conditions to maximise
photosynthesis with making
a profit.
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Plant tissues ‘

~ AQA GCSE ORGANISATION part 3
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